BN REERFRAR

CHANGZHOU XUANMAO BEARING CO.,LTD

HOINFF SRR IR AT, AL TL IR H N 7 DO g L ol el xElE
FARBCHURRY) 58 P H 325 XM R I R OEMTI H -

FE A AR RR . IBSRRRK, BV ERRCRR, AR LU LS
{ORERZE

FA AR T T IR, 254 BRI B S A B i e s S I

AFIIAZFEH ORTER, PP Pra A it U VERANT— B & B 95271,
AWTEE T AL L2, AR A T A= 1 il a] EAAHE B i

FIRS, BOAEAAIEOR A G, w] EIR RS A6 TR DUfe (AR BT A it LA &
IEE IS
FF IR G2 R AT 7 i i TR AL R R/, A RIS B S B T i A i 2o



Changzhou Xuanmao Bearing Co., Ltd., is located in Minghuang Industrial Park,
Hutang Town,Wujin District, Changzhou City, Jiangsu Province. It is a manufacturer
specializing in the production of roller bearings. We have own brand "XM" and also
undertakes OEM projects.

The main products include conventional roller bearings, stud type roller bearings,
non-standard customized roller bearings, box bearings and matching sliders, etc.

The products produced by our company are widely used in engineering machinery,
textile, printing, automated production equipments, logistics transportation and other
equipments.

The company has many years of export OEM experience and product quality is
guaranteed. In recent years, we have been focusing on improving product quality and
constantly improving product processing technology, so that the products produced by
our company can replace imported products.

At the same time, because we have professional technical personnel, we can provide
bearing development, design and after sales services based on customer usage.

Xuanmao Bearing has always believed that product quality is the cornerstone of
enterprise development, and the company’s reputation is the basis for being based on

the market.



KR/KRV/KRE RYTRHHIHK KR/KRV/KRE Series Roller Bearings.............coo.covovverveveereeeeeerernn 1-2

NUKR/PWKR/NUKRE R ¥R 7K NUKR/PWKR/NUKRE Series Roller Bearings....................... 3-4
NATR/NATV RITRHHH NATR/NATV Series Roller Bearings.............o.ovvevorveeeeeeeeeeeeeeeeeeenen. 5
NUTR/PWTR RINTEFHIK NUTR PWTR Series Roller Bearings..............oo.ovvveeeeveereeieeeeeeeeeenon. 6
HERITREEHIK Heavy Support ROIEr BEarings...........o..v..oveiveeveeeeeeeeeeeeseeeeeeeeeeeeeeeeee e 7
HPC A I IZAEHI A HPC Series Stud Track ROIETS.........o..ovvooooeeeeeeeeeeeeeee e, 8
HPCE R YEHEHH A HPCE Series Stud Track ROIETS............ovvoovoeoeoeeeeeeeeeeeeeeoeeeeeeeeeeeeeeee e 9
HPCA R F IR FEHI A HPCA Series Stud Track ROIEIS.........o.oovovovoeoeeeeeeeeeeeeeeeeeeeeeeeee 10
HPJ R FIERE K HPT Series Stud Track ROUETS. ... ..ovoveeeeeeeeoeeeeeeeeeee oo, 11
HPJE AV IZFE MK HPJE Series Stud Track ROLETS. ... o.ovveeeeeeeee oot 12
HPJA R Y IEFEHH K HPJA Series Stud Track ROIETS. . ..ovveeeeeeeeeee oo 13
HPV ZFEFEHIHK HPV Series Stud Track ROIIS........o..ov.ovoeeeoeoeeeeeeeeeeeeeeeeeee e 14
HPVE R F 24 HPVE Series Stud Track ROIEIS...........oo.oovoveeoeoeeeeeeeeeeoeeeeeeeeeeeeeeee. 15
HPVARFIZHEH K HPVA Series Stud Track ROIETS..........o..ov.oooooeeoeeeeoeeeoeeeeeeeeeeeeeeeeee 16
RKU R FNTRHE RKU SERIES TRACK ROLLERS.......vioiirieiiriosiciseseessessesess s 17
FKU R FNTRHE FKU SERIES TRACK ROLLERS.......viciiivicirecsesissessses s 18
LUBUEHE LUBRICATOR LUBU......oocvicimiiioinrisee s 19
PRARFRHE PK SERIES TRACK ROLLERS......cooeiivioiaieciecesee s 20
FK AR FITREE FK SERTES TRACK ROLLERS....coooviiiieiiorisseees s 21
LUBPIHHE LUBRICATOR LUBP.........oocuiiiiiieriisinessesesssesss s s 22
RKY RKX R FNVRHE RKY RKX SERIES TRACK ROLLERS. ... 23
FKY FKX R FVRHE FKY FKX SERIES TRACK ROLLERS. ...t 24

LUBY, LUBXYHHE LUBRICATOR LUBY, LUBX.....o.iiiiiioeoeeeeoeeeeeeeeeeeeeeeeeeeeeeeeee e 25



d=F:: e

Contents XM BEARING
FR...EI FRR.. EIRFIIZHE FR..EI FRR...EI GUIDE ROLLERS.......c.covivieieeeeeeeeeeeeeeeeeeeeeveeeen 26
FRN...EI FRNR...EIRFITRHE FRN...EI FRNR...EI GUIDE ROLLERS........oovoivooeoeeoeeeeeeeeeeeen. 27
BLYFIR BL SLIDER ......oooiooiooeoeeeeeee oo 28
TEILZH ROUIET U oottt ettt ettt 29-46
SHIEECHIE ROLLER FOR RAILS. .....ooooovooeoeoeee oo 47-50

2 AT Combined Roller BEarings...........o..ov.ivovviveeeeeceeeeeeeeeoeeeeeeeeee e 51-60



KR/KRV/KRE % 1| & & il 7K
KR/KRV/KRE Series Roller Bearings

i A Shg R~
DESIGNATION BOUNDARY DIMENSIONS
AR DE R O d B, r
Without R With R
eccentric MASS (Kg) eccentric MASS (Kg) b B B | Bs | C| G min G ds
collar collar h7 max. :
KR161) 0.019 - 16 6 28 12.2 16 - 11 0.6 0.15 12.5 -

(KR16-SKPP®| 0019 | - | ] 16 [ 6 | 28] 122 | 16 | - |11] 06 015 [125] - |
| kR19® | o002 | - | ] 19 [ 8 |3 | 122 ]2 |- |11]06]015] 15 | - |
(KR19-SkPP®| 0020 | - | ] 19 [ 8 |3 | 122 |2 | - |11]06] 015 ] 15 | - |
| wkrRe2 | o045 | - | ] 22 [ 10 |3 | 132 ]| 23] - |12]06] 03 [175] - |
| KRvzopp | 0045 | - | ] 22 [ 10 |3 | 132 |23 | - |12]06] 03 [175] - |
| KR26-PP_ | 0057 | KRE26PP | 0062 | 26 | 10 | 36 | 132 | 23 | - |12] 06 [ 03 [175] - |
. KkrR30 | 0092 | - | ] 3 | 12 [40] 152 ] 25 | 6 |14] 06| 06 | 23 | 3 |
| KRvaopp | 0091 | - | ] 3 [ 12 |4 | 152 | 25 ]| 6 |14]06] 06 | 23 | 3 |
| KR32-PP_ | 0098 | KRE32PP | 0104 | 32 [ 12 | 40 | 152 | 25 | 6 |14] 06 ] 06 | 23 | 3 |
. krRes | oar3 | - | ]| 35 [ 16 | 52| 196 |325] 8 |18] 08 ] 06 [276] 3 |
| KRvasPpp | o166 | - | ]| 35 [ 16 | 52| 196 |325] 8 |18] 08 ] 06 [276] 3 |
| KR40-PP_ | 0239 | KRE40PP | 0255 | 40 | 18 | 58 | 216 |365]| 8 |20/ 08 ] 1 [315] 3 |
| KR47-PP_ | 0381 | KRE47-PP | 0400 | 47 | 20 | 66 | 256 |405]| 9 |24] 08 [ 1 [365] 4 |
| KRS2-PP_ | 0454 | KRE52PP | 0473 | 52 | 20 | 66 | 256 |405]| 9 |24 08 [ 1 [365] 4 |
| KRe2-PP_ | 0770 | KRE62PP | 0798 | 62 | 24 | 80 | 306 |495]| 11 /20 08 [ 1 [ 44 | 4 |
| KR72-PP_ | 1010 | KRE72.PP | 1038 | 72 | 24 | 80 | 306 |495]| 11 |29] 08 [ 11 | 44 | 4 |
| KRso-PP_| 1608 | KRESO-PP | 1665 | 80 | 30 |100| 37 | 63 |15|35] 08 [ 11 | 53 | 4 |
| KRoo-PP_ | 1975 | KRE9O-PP | 2032 | 90 | 30 J100] 37 | 63 |15/35] 1 [ 11 | 53 | 4 |

SR RREIRAR HAREIS:18961185785 '



KR/KRV/KRE % 1| & & il 7K
KR/KRV/KRE Series Roller Bearings

SR mo | BEER| mammas | mREmRe | REEE
Nut BASIC LOADING .Fa.tlgue Speed
BOUNDARY DIMENSIONS . . RATINGS limit load .
) . tightening Limited
Drive fit torque (KN) (KN)
Eccentric corrlar {3 Iul:r)lri;:;itelon My sha& Bas o
np
G e | w a, » _ . dyn. stat. curw min-1
h9 € m Crw Cor w
M6(X1) 8 - - - - NIPAL 3 3.150 3.300 0.415 14000

. meoxy | 8 | 4 [ - | - | - | - | 3 | 3150 | 3300 | 0415 | 14000 |
 mexi2sy | 10 | - | - | - | - | Neat [ 8 | 3500 | 3900 | 0485 | 11000 |
 mexi2sy | 10 | 4 | - | - | - | - | 8 | 350 | 390 | 0485 | 11000 |
. mioxai | 12 | 5 | - | - | - | NPAixas| 15 | 4500 | 5200 | 0650 | 8000 |
. mioxai | 12 | 5 | - | - | - |NPAixas| 15 | 6200 | 9100 | 1110 | 2600 |
 mizxas | 13 | 6 | - | - | - | NPAixas| 22 | 6800 | 8400 | 1070 | 5500 |
. mizxas | 13 | 6 | - | - | - | NPAXas| 22 | 9500 | 14600 | 1840 | 2100 |
 mi2x15 | 13 | 6 | 15 | 11 | 05 | NPA1Xas| 22 | 7100 | 8900 | 1140 | 5500 |
 miexas5 | 17 | 8 | - | - | - | NIPA»75 [ 58 | 9800 | 14100 | 1700 | 3600 |
 miex1s | 17 | 8 | - | - | - | NIPA»75 | 58 | 12800 | 23000 | 2900 | 1600 |
| Misxis | 19 | 8 | 22 | 15 | 1 | NIPA»75 | 87 | 10900 | 15500 | 1850 | 2900 |

M30X1.5 32 14 35 29 1.5 NIPA3x9.5 450 41.000 83.000 10.600 1300

SR RREIRAR HAREIS:18961185785 '




NUKR/PWKR/NUKRE % 1| 7% # flf 7%
NUKR/PWKR/NUKRE Series Roller Bearings

bivess s R~
DESIGNATION BOUNDARY DIMENSIONS
A wE HiROE B r
. MASS (Kg) . MASS (Kg) .
eccentric collar eccentric collar max. min.
NUKR35 0.164 - - 35 16 52 196 | 325| 78| 18| 0.8 0.6 20 3

| PWKR352RS | 0164 | - | - |35 | 16 | 52| 196 [325/78 18] 08| 06 | 20 | 3
| NUKRao | o022 | - | - |40 |18 |58 | 216[365| 8 |20]08] 1 |22 |3
| PWKR40-2RS | 0242 | - | - |40 |18 | 58| 216 [365| 8 |20]08| 1 |22 |3
| NUKR47 | 0380 | NUKREA7 | 0400 | 47 | 20 | 66 | 256 [405| 9 |24] 08 | 1 | 27 | 4

| NUKRs2 | 0450 | NUKRES2 | 0470 | 52 | 20 | 66 | 256 |405] 9 |24] 08| 1 | 31 | 4
| NUKR62 | 0795 | NUKRE62 | 0824 | 62 | 24 | 80 | 306 |495]11 /28| 13| 1 | 38 | 4
| NUKR72 | 1020 | NUKRE72 | 1050 | 72 | 24 | 80 | 306 |495| 11|28 13| 11 | 44 | 4
| NUKR80 | 1600 | NUKREBO | 1670 | 80 | 30 [100| 37 | 63 |1535| 1 | 11 | 47 | 4
| NUKROO | 1960 | NUKRE9) | 2020 | 90 | 30 |100| 37 | 63 |15/35| 1 | 11 | 47 | 4

For cylindrical outer race, add the suffix"X".e.g. NUKR35X
AT a2 A T A 88X BT s NUKR35X

EHAFRHABRAE) EAEIS: 18961185785 3



NUKR/PWKR/NUKRE % 1| 7% # flf 7%
NUKR/PWKR/NUKRE Series Roller Bearings

Il
AR g | IR EABERH IR R | R
Fatigue
Nut

BOUNDARY DIMENSIONS P BASIC LOADING RATINGS limitload | SPe%d

Drive f tightening (KN) KN Limited
| brl.vet.lt torque (KN)
Eccentric corrlar fif:L%& unri::;;on M, A A dyn. stat. c
np
e le | W d, B . dyn. stat. P B e min-1
ho ¢ Al Crw Corw ¥ o O P
M16X15 | 17 8 - - - NIPA2x7.5 58 15.000 16.800 8.600 16.800 2.220 6500

Mioxi5| 17 8 | - | - | - | NPAx7s| 58 | 11600 | 11300 | 9400 | 11300 | 1780 | 6000
Migx15] 19| 8 | - | - | - | NPAx1s| 87 | 18400 | 22600 | 13100 | 22600 | 2000 | 5500
Migxi5| 19| 8 | - | - | - [NPAx1s| &7 | 13200 | 13800 | 13800 | 13800 | 2200 | 5000

For cylindrical outer race, add the suffix"X".e.g. NUKR35X
AT a2 A T A 88X BT s NUKR35X

FINHRHERERAR FEATI5:18961185785 4



NATRINATV 3 51 7R % il &
NATR/NATYV Series Roller Bearings

SR~ HEEBEBM | MEEEFTRA | WEEE
= BASIC LOADING Fatigue
BOUNDARY DIMENSIONS (mm) RATINGS limit load Speed Limited P
(KN) (KN) MASS(Kg)
HE | BS G
DESIGNATION d D B C d, r dyn. stat. Curw min-i
Crw Cor w
NATR5PP NATR5PPX 5 16 12 11 | 125 | 0.15 | 3.150 3.300 0.415 14000 0.014

| NATR6PP | NATRGPPX | 6 | 19 | 12 [ 11 | 15 [o015] 3500 | 3900 | o485 | 11000 | 0019
| NATR8PP | NATRaPPX | 8 | 24 | 15 [ 14 | 19 [ 03 | 5500 | 6400 | o810 | 7500 | 0038
| NATRIOPP | NATR10PPX | 10 | 30 | 15 | 14 | 23 | 06 | 6800 | 8400 | 1070 | 5500 | 0061
| NATR12PP | NATR12PPX | 12 | 32 | 15 | 14 | 25 | 06 | 6900 | 8800 | 1720 | 4500 | 0066
| NATRISPP_ | NATR15PPX | 15 | 35 | 19 | 18 | 276] 06 | 9800 | 14100 | 1700 | 3600 | 0095
| NATR17PP_| NATR17PPX | 17 | 40 | 21 | 20 |315] 1 | 10900 ] 15500 | 1850 | 2900 | 0139

| NATR4OPP_| NATR4OPPX | 40 | 80 | 32 | 30 | 66 | 11 | 32500 | 58000 | 7000 | 850 | 0795
| NATRSOPP | NATRSOPPX | 50 | 90 | 32 | 30 | 76 | 11 | 31500 | 59000 | 7100 | 650 | 0867

EEFRNEBRAS AR Y15:18961185785 5



NUTR/PWTR £ 41 18 4 fil &
NUTR/PWTR Series Roller Bearings

. SRR B B B E HBRS
BOUNDARY DIMENSIONS LOAD RATING(KN) SPEED RATINGS(rpm) (min) RE SECONDARY DIMENSIONS
r(min
& & £ Z ng Wi MASS(Kg)
DESIGNATION d D B g g B B L d, @
dyn.Cr |dyn.F. per| stat.Cor | stat.F,per ng grease
NUTR15 NUTR15X 15 35 19 141 8.6 16.2 16.8 6500 0.3 0.099 20 18

;
.
.
I I 7 5 T T B I B

SR RREIRAR HAREIS:18961185785 '



X
h P I////// r///ﬂ///

B YR B il R
Heavy Support Roller Bearings

NNTR60X150X75-2ZL

NNTR70X180X85-2ZL

NNTR90X220X100-2ZL

NNTR110X260X115-2ZL

NNTR130X310X146-2ZL

RSU60-150

RSU70-180

RSU90-220

RSU110-260

RSU130-310

60 | 150

70 | 180

90 | 220

110 | 260

130 | 310

75

85

100

115

146

242.2 334.70

326.7 4728

469.7 697.70

633.2 983.70

963.8 1524.10

800

600

400

300

240

2.5

2.5

73

83

98

113

144

BRR HE A it ABRT
BOUNDARY LOAD RATING R s SECONDARY
ishe DIMENSIONS (KN) R - r. | r |DIMENSIONS| MR&
Model om) | il i MASS
0 HOLE (min)|(min) (Kg)
d b | B Hh Ba ng 3 c
dyn.Cr | stat.Cor ng oil

NNTR50X130X65-2ZL | RSU50-130 | 50 | 130 | 65 | 1821 | 238.90 3 1100 2 | 3 63 5.2

78

13

22.5

35.6

65.2

EHNFRHRERAE)

A %15:18961185785




PLAIN-STUD STYLE

HPC &AMk HPC SERIES STUD TRACK ROLLER

S Vo I [FE— — B
m S
B
—_— — —fig—ra—f-n——— A
[ - i
L
.
R
LN
Thread
s R~
BOUNDARY DIMENSIONS
BEE
S K
Model (ﬁ; 00 B (+0.00 L M N R s giozlee Cvpp_rohi.
s Roller | -0.02) Stud | Thread | . | Shidr. | Shidr. | 7" (f('g)
Roller Dia Width St_ud Length | Length Dia. Length 20.00)
Dia.

HPC-26 26 20 10 23 13 M10x1 13.1 0.8 10.02 0.09
HPC-30 30 20 12 25 14 M12x1.5 15.9 0.8 12.02 0.11
HPC-32 32 22 12 25 14 M12x1.5 15.9 0.8 12.02 0.14
HPC-35 35 22 16 325 18 M16x1.5 19.1 0.8 16.02 0.17
HPC-40 40 30 14 40 26 M14 18 1.6 14.02 0.27
HPC-40-1 40 27.6 18 36.5 19 M18x1.5 22 1.6 18.02 0.24
HPC-47 47 27.6 20 40.5 21 M20x1.5 25.5 1.6 20.02 0.42
HPC-50 50 40 16 50 35 M16 23 1.6 16.02 0.54
HPC-52 52 33.6 20 40.5 21 M20x1.5 255 1.6 20.02 0.54
HPC-62 62 44 24 58 35 M24 32 1.6 24.02 1.04
HPC-62-1 62 44 24 49.5 25 M24x1.5 32 1.6 24.02 1.04

HPC-72 72 44 24 49.5 25 M24x1.5 32 1.6 24.02 14
HPC-76 76 52 30 69.5 40 M30 445 1.6 30.02 1.91
HPC-80 80 52 30 69.5 40 M30 445 1.6 30.02 2.07
HPC-85 85 52 30 69.5 40 M30 445 1.6 30.02 2.37
HPC-90 90 52 30 69.5 40 M30 445 1.6 30.02 2.65
HPC-100 100 52 30 80 50 M30 445 1.6 30.02 3.33
HPC-100-1 100 52 30 69.5 40 M30 445 1.6 30.02 3.15
HPC-125 125 76 48 105 60 M48 825 1.6 48.02 8.48
HPC-150 150 76 64 140 82 M64 82.5 1.6 64.02 12.5
HPC-200 200 76 64 140 82 M64 825 1.6 64.02 21.87

ENFEHMERERAT A %1%:18961185785 8



PLAIN-STUD STYLE

HPCE RAIEF:H 7 HPCE SERIES STUD TRACK ROLLER

i T AR
—_ @ - K ' }_ = 4 - A
! 2 o]
w| 7 -
/
/ T R_|
LN
‘ Thread
A8 R~
BOUNDARY DIMENSIONS
HE
bt =1 T U
Model (+AO o B K L M \ R s | (+0.00 | (+0.00 w ';:’z'ee Cvpp'mr:('
0 02') Roller Stud Stud | Thread Thread Shoulder |Shoulder| -0.05) | -0.25) Eccentricity| (+002 AigJalt
. . Width Dia. Length | Length Dia. Length | Eccent. | Eccent. y ’ (Kg)
Roller Dia . -0.00)
Dia. Length

HPCE-26 26 20 10 23 13 M10x1 17.1 0.8 13 10 0.5 13.02 0.11
HPCE-30 30 20 12 25 14 M12x1.5 17.5 0.8 15 11 0.5 15.02 0.14
HPCE-32 32 22 12 25 14 M12x1.5 17.5 0.8 15 11 0.5 15.02 0.17
HPCE-35 35 22 16 325 18 M6x1.5 23.8 0.8 20 145 1 20.02 0.20
HPCE-40-1 40 27.6 18 36.5 20.5 M18x1.5 28.5 16 22 16 1 22.02 0.29
HPCE-47 47 27.6 20 40.5 22.5 M20x1.5 32 16 24 18 1 24.02 0.45
HPCE-50 50 40 16 50 32 M16x%2 32 16 24 18 1 24.02 0.69
HPCE-52 52 33.6 20 40.5 225 M20x1.5 32 16 24 18 1 24.02 0.72
HPCE-62 62 44 24 58 38 M24x3 43 16 28 20 15 28.02 1.10
HPCE-62-1 62 44 24 495 275 M24x1.5 43 16 28 22 1 28.02 1.08
HPCE-72 72 44 20 495 275 M20x1.5 38 16 28 22 1 28.02 1.60
HPCE-76-1 76 52 24 70 41 M24x1.5 50 16 35 29 15 35.02 1.99
HPCE-80 80 52 24 70 41 M24x1.5 50 16 35 29 15 35.02 2.39
HPCE-85 85 52 24 70 41 M24x1.5 50 1.6 35 29 15 35.02 2.54
HPCE-90 90 52 24 70 41 M24x1.5 50 1.6 35 29 15 35.02 2.98
HPCE-100 100 52 24 70 41 M24x1.5 50 1.6 35 29 15 35.02 3.29
HPCE-125 125 76 48 105 55 M48x5 82.5 16 64 50 15 64.02 4.63
HPCE-150 150 76 64 140 75 M64%6 82.5 16 80 65 15 80.02 5.56

EHSHEERAT A EI%:18961185785 9



PLAIN-STUD STYLE

HPCA R A8k HPCA SERIES STUD TRACK ROLLER

ShFE R

BOUNDARY DIMENSIONS
7 HE
MOi' ( +Ao.oo 5 = ] j).oo R > Cvpgrgoh);
ocay | ol | e | ogpy| e | s Y

Roller Dia Bore '
HPCA-62 62 40 38 20 32 1.0 0.81
HPCA-76 76 46 44 25 445 1.0 1.40
HPCA-80 80 46 44 25 445 1.0 1.57
HPCA-85 85 46 44 25 445 1.0 1.79
HPCA-90 90 56 54 30 57.2 1.0 2.40
HPCA-100 100 56 54 30 57.2 1.0 3.03
HPCA-125 125 71 68 45 82.6 15 5.70
HPCA-150 150 73 70 55 88.9 15 8.40
HPCA-200 200 79 76 70 108 15 16.45
HPCA-250 250 79 76 70 108 15 26.99
BRI RERAR BARX1%:18961185785 10




FLANGED-STUD STYLE

HPJ R 512425 %& HPJ SERIES STUD TRACK ROLLER

s . L B
e D -
—M_, S_|_
k—>—4—Ht—-+a ¢
’ 5 }
R | | | )
LN
Thread e
X .-"!.I
/200
MR~
BOUNDARY DIMENSIONS
RS K HE
Model A B c D (+0.00 L M \ R s Hole Size Cvpp_mhx'
Roller Dia Roller | Flange | Flange | -0.02) Stud Thread Thread Shidr. | Shldr. (+0.02 t:(lg k
Width Dia. |Thickness| Stud Length Length Dia. Length -0.00) (Kg)
Dia.
HPJ-26 26 20 35 5 10 23 13 M10x1 131 0.8 10.02 0.11
HPJ-30 30 20 40 5 12 25 14 M12x1.5 15.9 0.8 12.02 0.14
HPJ-32 32 22 42 5 12 25 14 M12x1.5 15.9 0.8 12.02 0.17
HPJ-35 35 22 46 5 16 325 18 M16x1.5 19.1 0.8 16.02 0.2
HPJ-40 40 30 54 8.8 14 40 26 M14 18 1.6 14.02 0.33
HPJ-40-1 40 27.6 54 7.8 18 36.5 19 M18x1.5 22 1.6 18.02 0.24
HPJ-47 a7 27.6 61 7.8 20 40.5 21 M20x1.5 255 1.6 20.02 0.47
HPJ-50 50 40 68 14 16 50 35 M16 23 1.6 16.02 0.7
HPJ-52 52 33.6 66 10.8 20 40.5 21 M20x1.5 255 1.6 20.02 0.83
HPJ-62 62 44 78 14 24 58 35 M24 32 1.6 24.02 1.21
HPJ-62-2 62 44 78 14 24 495 25 M24x1.5 32 1.6 24.02 1.21
HPJ-72 72 44 90 14 24 49.5 25 M24x1.5 32 1.6 24.02 1.28
HPJ-76 76 52 98 14 30 69.5 40 M30 445 1.6 30.02 2.17
HPJ-80 80 52 102 14 30 69.5 40 M30 445 1.6 30.02 241
HPJ-85 85 52 107 14 30 69.5 40 M30 445 1.6 30.02 2.75
HPJ-90 90 52 112 14 30 69.5 40 M30 445 1.6 30.02 2.98
HPJ-100 100 52 125 14 30 80 50 M30 445 1.6 30.02 3.7
HPJ-100-1 100 52 125 14 30 69.5 40 M30 445 1.6 30.02 3.52
HPJ-125 125 76 148 18 48 105 60 M48 82.5 1.6 48.02 8.86
HPJ-150 150 76 173 18.3 64 140 82 M64 825 1.6 64.02 13.07
HPJ-200 200 76 223 18.3 64 140 82 M64 82.5 1.6 64.02 20.37

EMET R ERAE A Z15:18961185785 11



FLANGED-STUD STYLE

HPJE R4 HPJE SERIES STUD TRACK ROLLER

| :_';'
IR - - Se——
7
//' T
£ R
/ T S .
N = ;e'
Thread /
/
/
/
I.,."
/
N/ 20°|
SR
BOUNDARY DIMENSIONS
B T U 2R
Model A B c D K L M N R s (+0.00 | (+0.00 w | Holesiz Cvpp'ror:('
Roller Dia | ROMer | Flange | Flange | Stud Stud | Thread | L |Shoulder|Shoulder|  -0.05) 025) oo | (+0.02 f('gt
Width Dia. |Thickness| Dia. Length Length Dia. Length Eccent. Eccent. Y -0.00) (Kg)
Dia. Length
HPJE-26 26 20 35 5 10 23 13 M10x1 17.1 0.8 13.00 10 0.5 13.02 0.14
HPJE-30 30 20 40 5 12 25 14 M12x1.5 175 0.8 15.00 11 0.5 15.02 0.17
HPJE-32 32 22 42 5 12 25 14 M12x1.5 175 0.8 15.00 11 0.5 15.02 0.20
HPJE-35 35 22 46 5 16 325 18 M16x1.5 23.8 0.8 20.00 145 1 20.02 0.23
HPJE-40-1 40 27.6 54 7.8 18 36.5 20.5 M18x1.5 28.5 16 22.00 16 1 22.02 0.35
HPJE-50 50 40 68 14.0 16 50 32 M16 32 16 24.00 18 1 24.02 0.94
HPJE-62-1 62 44 78 14.0 24 495 275 | M24x15| 43 1.6 28.00 22 1 28.02 1.13
HPJE-76 76 52 98 14.0 24 70 41 M24x15| 50 16 35.00 29 15 35.02 231
HPJE-90 90 52 112 14.0 24 70 41 | M24x15| 50 1.6 35.00 29 15 35.02 3.09
HPJE-100 100 52 125 14.0 24 70 41 | M24x15| 50 1.6 35.00 29 15 35.02 3.79
HPJE-125 125 76 148 18.0 48 105 55 M48 825 1.6 64.00 50 15 64.02 9.28
HPJE-150 150 76 173 183 64 140 75 M64 92 1.6 80.00 65 15 80.02 14.86

ENFEHMERERAT A %1%:18961185785 12



FLANGED-STUD STYLE

HPJA RFI2Fe47#K HPJA SERIES STUD TRACK ROLLER

20°
fr s
X
b
X
\
T | T D —
R - = A C
U | Il B
S—y |4—
— D -
B——
HhTE R~
BOUNDARY DIMENSIONS
BERE
A5
Model A B C D E ( +F()) 00 R S Cvpp_rohx.
Roller Dia Tread | Flange | Flange | Roller 0 02') Shidr. Shidr. f(lg !
Width | Dia [Thickness| Width | o Dia. | Length | (K9)
HPJA-62 62 40 78 14 38 20 32 1.0 0.97
HPJA-76 76 46 98 135 44 25 44.5 1.0 1.65
HPJA-80 80 46 102 135 44 25 44.5 1.0 1.82
HPJA-85 85 46 107 135 44 25 44.5 1.0 2.06
HPJA-90 90 56 112 135 54 30 57.2 1.0 2.69
HPJA-100 100 56 122 135 54 30 57.2 1.0 3.35
HPJA-125 125 71 148 18.2 68 45 82.6 1.5 6.27
HPJA-150 150 73 173 18.2 70 55 88.9 1.5 9.07
HPJA-200 200 79 223 18.2 76 70 108 15 17.33
HPJA-250 250 79 273 18.2 76 70 108 15 28.07

ENFEHMERERAT A %1%:18961185785 13



HPV &A1& HPV SERIES STUD TRACK ROLLER

V-GROOVED-STUD STYLE

— g L B
N
; I
il
K |—:[> - - — F A
| = =R
/ |
i R r ¥
/n = /
Thread —
G_. \
Lo P
a0
SR~
BOUNDARY DIMENSIONS
nE % =
Model A B F G (+0.00 L M N R S Hole Size " h.
Roller Dia Roller | Point | Groove -0 02') Stud Thread Thread Shidr. | Shldr. (+0.02 f('g L
Width Dia. | Location e Length Length Dia. Length -0.00) (Kg)
Stud Dia.
HPV-26 40 20 26 10 10 23 13 M10x1 13.1 0.8 10.02 0.23
HPV-32 50 22 32 11 12 25 14 M12x1.5 15.9 0.8 12.02 0.26
HPV-40 60 33 40 17 14 40 26 M14 18 1.6 14.02 0.44
HPV-62 90 445 62 23 24 57.9 34.9 M24 32 1.6 24.02 1.48
HPV-62-1 90 445 62 23 24 495 25 M24x1.5 32 1.6 24.02 1.45
HPV-76 120 50.5 76 26 30 70 40 M30 445 1.6 30.02 2.69
HPV-100 140 50.5 100 26 30 80 50 M30 445 1.6 30.02 411
HPV-100-1 140 50.5 100 26 30 69.5 40 M30 445 1.6 30.02 4.05
HPV-125 165 76 125 37.8 48 105 60 M48 82.5 16 48.02 9.92
[~ VAN —
H MRS RAE #A%15:18961185785 14



V-GROOVED-STUD STYLE

HPVE R4k HPVE SERIES STUD TRACK ROLLER

T |R| /r

N o i
LY
Gewinde =% = "
#
90’
SR
BOUNDARY DIMENSIONS
R T u BER
Model A B F @ K L M N R S (+0.00 (+0.00 W Hole Size Cvpp_“’hx'
Roller Dia Roller | Point | Groove stud Dia Stud Thread T Shoulder|Shoulder -0.05) -0.25) B (+0.02 ':('g C
Width Dia. | Location ) Length Length Dia. Length Eccent. Eccent. Yl .0.00) (Kg)
Dia. Length

HPVE-26 40 20 26 10 10 23 13 M10x1 17.1 0.8 13.00 10 0.5 13.02 0.26
HPVE-32 50 22 32 11 12 25 14 M12x1.5 175 0.8 15.00 11 0.5 15.02 0.30
HPVE-40 60 33 40 17 14 40 24 M14 28.5 1.6 22.00 16 1 22.02 0.48
HPVE-62 90 445 62 23 24 58 38 M24 43 1.6 28.00 20 15 28.02 151
HPVE-62-1 90 445 62 23 24 495 275 M24x1.5 43 16 28.00 22 1 28.02 1.48
HPVE-76 120 50.5 76 26.0 24 70 41 M24x1.5 50 1.6 35.00 29 15 35.02 2.67
HPVE-100 140 50.5 100 26.0 24 70 41 M24x1.5 50 16 35.00 29 15 35.02 4.04
HPVE-125 165 76 125 37.8 48 105 55 M48 825 16 64.00 50 15 64.02 10.47

EMET R ERAE A Z15:18961185785 15



V-GROOVED-STUD STYLE

HPVA R4 HPVA SERIES STUD TRACK ROLLER

N
T |
R - - F A
.._l— ] |’_ T
.
S .. -
L&
B 5
AN R ~F
BOUNDARY DIMENSIONS
EE
Mg
Model A B E F = <+% 00 R S \A/vpsimh):
Roller Dia Roller | Tread Point Groove 0 02') Shidr. Shldr. 9
Width | Width Dia. Location I?;ore Dia. Length (Kg)
HPVA-62 90 40 38 62 22 20 32 1.0 1.02
HPVA-76 110 46 44 76 23 25 445 1.0 1.77
HPVA-100 140 56 54 100 28 30 57.2 1.0 3.73
HPVA-125 165 71 68 125 355 45 82.6 15 6.79
HPVA-150 190 73 70 150 36.5 55 88.9 15 9.74
HPVA-200 240 79 76 200 395 70 108 15 18.37
HPVA-250 290 79 76 250 395 70 108 15 29.38

MR ERAE A %1%:18961185785 16



RKU & 472 % RKU SERIES TRACK ROLLERS

Rl L2 fim D24

CONCENTRIC STRUCTURE ECCENTRIC STRUCTURE
#HE SR
Model BOUNDARY DIMENSIONS D .
)I/_narglc Preload | Weight
S ?\la torque (kg)
Concentric Eccentric De dl(l) d T m min P L A B I, M | SW; [ SW, | k N) (Nm)
RKU 55 RKUR 55 55 21 M20x15 | 146 | 198 | 15 [ 134 | 73 35 41 14 28 8 30 1 | 41650 80 1

8o | 70 | 32 | 56 | 14 | 55 | 1 | 182450 | 450 5

RKU115 RKUR 115 115 42 M36 x1.5 [ 335 34 33 | 246 | 135 60

DR SN HY

)AL N TCTHEE GO T BAUE ; T AN EUEAIZEUE 0.8
3)WRIEE B MEINBRUSRS

TR G 7N A SRR ER R B BB (DIN 439B).

Syt AR A . 45

M SRERAT A %1%:18961185785 17



FKU & 5724 FKU SERIES TRACK ROLLERS

90°

AR,

d

VRIS Rk A T IR 2R =400

Roller contact surface is a convex arc radius=400

NI _
BOUNDARY DIMENSIONS B DA B8
pis B2 Dynamic A
Weight
Model Loz (kg)
De | d | T | m| A B Fo|d@)]| M (N) g
FKU 55 55 | 15 | 14.6 | 210 | 35 42 25 3 | 30 | 41650 0.5

FKU 75

FKU 115

75

115

25

35

23.7

33.5

28.0

36.0

45

63@)
60

56

72

37

52

44

59

66700

182450

1.2

3.9

1) P AEFLd2"Ab B 85T LART (13- 5 TR 5 2085 1L 2 R ) B AH#% 5))
)BT AR . 45

PR EA . MEINBREIASRS

EHNFRHRERAE)

A %15:18961185785

18




LUBUEH: LUBRICATOR LUBU

m

M6
DIN 71412\

7/M5 pf.12 (2x)

MS\

|

M

ety
| B Roller axis
plate of
roller assembly

m

£E 9 R~} Dimensions (mm) BEE BWRARRES
ltem Weight Suggested
X|lut|luv|E|m|B|[s?|c”| A E|V]|P (@) combinations

LUBU 65 40 | 14 | 12 | 40 | 208|255 10 | 34 | 20 | 38 | 185|165 65 RKU 65,RKUR 65,FKU 65

HEFRA S

1)

DI R e A R 2 AL A 33, AT/ - 3mm R Y

The dimension of the plastic part refers to the centre of the regulation-slot. Allows a translation of +/- 3 mm.

SR RREIRAR HAREI5:18961185785 '



PK & A7 %5 PK SERIES TRACK ROLLERS

Rl LEE A T L2254
CONCENTRIC STRUCTURE ECCENTRIC STRUCTURE

B SR~

HER | BE
Model BOUNDARY DIMENSIONS pd e | R
Dynamic | Preload|Weight

BLE&H | RO&EH @ S Load | torque | (kg)
Concentric | Eccentric | 2¢ | ¢ ¢ L e L A B © R LI LG G (e (N) (Nm)

PK52C PKR52C | 52 21 M20x1.5 | 19.8 15 | 134 | 73 35 41 29 | 800 [ 14 28 8 30 1 42100 80 0.6

PK110C | PKR110C | 110 42 M36 x1.5 34 33 | 246 | 135 70 48 | 1200 32 56 14 55 1 185000 [ 450 4.9

DR LIS N HY

)AL N TCTE IS T BIAUE ; X T AN EUEIZEUE 0.8
3)VWRIEE B MEINBRAUSRS

HVRFCELE 7S AR BE AN R B S5 8] (DIN 439B).

EEF R BRAS A %I5:18961185785 20



FK & 572 % FK SERIES TRACK ROLLERS

60

e
S
[ |
De M fl: dclis
C
A
B84
BOUNDARY DIMENSIONS M oEg
piUR= Dynamic .
Weight
Model Load (kg)
De d A B c | R| F | d M (N) g
FK 52C 52 15 | 35 42 29 | 800 | 25 | 25| 30 42100 | 05
FK 72C 72 25 | 45 56 33 [1200] 37 | 4 44 67450 | 1.2
FK 110C 110 35 R 48 |1200] 52 | 4 59 | 185000 | 3.9

) A TEFLA2" b LS 84T DA | E S-SR 5 235 5L 2 (R ) AR EE 5l
OWREEEMS . MEINBRAUSRS

EHNFRHRERAE)

A %15:18961185785

21



LUBP{HH: LUBRICATOR LUBP

| =
M6 i M5 pf.12 (2x)
DIN 71412\ _._Bj:_ A
s | 0 & | |
| : @l f l‘["@ b
] q g_
=i % ] Vv
C g = s i
(1) " _" f.a =
IS
Roller axis
N N e
= plate of
roller assembly
s %4 R~} Dimensions (mm) 2E BWESRERS
ﬁ?ﬁf&f% Weight Suggested
X|ul|w|F|m|B|[sY|c" E|V]|P (9) combinations

LUBP 62

14

12

40

10

65

PK62 C,PKR 62 CFK 62 C

1) %I AR T A R AT

Z M H

Z=ZIANTN

FOLH B, RS+ -3mm AT

The dimension of the plastic part refers to the centre of the regulation-slot. Allows a translation of +/- 3 mm.

EHNFRHRERAE)

A %15:18961185785



RKY RKX A& AEH RKY RKX SERIES TRACK ROLLERS

RKX..90°

W
Fiiw
L
Lt

S min.

B !

Rl L5 T V2514
CONCENTRIC STRUCTURE ECCENTRIC STRUCTURE
VRIE HE e A T T IR R =400

Roller contact surface is a convex arc radius=400

e S8R~
Model BOUNDARY DIMENSIONS HERHT | WEH
: =R
Dynamic 5 ;
Load Preload R
FLEH | ROGH @ S (kg)
comaitie | Bemrdnie De d, d T m | in. P L A B Iy M | SWi | SW: k (N) torque
(Nm)
RKY 52 RKYR 52 52 21 M20x1.5 191 | 198 | 15 | 134 73 35 41 14 28 8 30 1 40750 80 0.6

RKX110C [ RKXR110C | 110 42 M36 x1.5 40 340 | 33 | 24.6 135 70 32 56 14 55 1 177500 450 4.9

DR S A HY

)AL N TCI G O T ROAUE ; X T AT T BB A ZEE 0.8
3)VWRIEE B MEINBRAUSRS

TR G 7N A SRR ER R B BB (DIN 439B).

SR FAERIA: RKY RANEH 40" RKXARVTEEC45°

EEF R BRAS A %I5:18961185785 23



FKY FKX & 572 % FKY FKX SERIES TRACK ROLLERS

VRIS S Al ar A ™

Roller contact surface is a slight convex

ST R~ FEH
e BOUNDARY DIMENSIONS i HE
Dynamic | Weight
Model Load (kg)
De d T m A B F F d: M
(N)
FKY 52C 52 15 | 19.1 | 21.0 35 42 25 25 25 30 40750 05

FKY 72C 72 25 | 255 | 280 45 56 37 37 4 44 64850 1.2

FKX110C | 110 | 35 | 39.5 | 36.0 72 52 52 4 59 | 177550 3.9

1) AIFEFLd2" Ab 22 B0 4T AR (3 S51R % 28 £ 2 (R 1) B AR % 5))
2) FmriF AR A FKY RYEH40° FRXZRINE 45"
3) PRI EE: PEINBR B5RS

EEF R BRAS AR Y15:18961185785 24



LUBY, LUBX#§¥¢ LUBRICATOR LUBY, LUBX

F
= M5 pf.12 (2x)
M6
DIN 71412 "‘Bl:‘ = _7/
5 s 2 ,//
N i : !
T OE P
! i + i
¢ o [ps R *
(1) F ok
R HhER
e 1l | Rolleraxis
E R A
plate of
roller assembly
X %R~ Dimensions (mm) HE BRI S
m?ﬁz& f"% Weight Suggested
X|u|lw|F|m|B|sY cP|A|E|V]|P () combinations

RKY 62,RKYR 62,FKY 62,
LUBY62 |[385| 14 | 12 | 40 | 208 |255| 10 | 34 |245| 38 | 185 16.5 65 FR 62 ELFRR 62.E1...AS/AZ

1)IZIE T AR e A RST AT 2 A D A 8L, m S84/ -3mm T

The dimension of the plastic part refers to the centre of the regulation-slot. Allows a translation of +/- 3 mm.

SR RREIRAR HAREI5:18961185785 '



[Fl N
CONCENTRIC STRUCTURE
The sides of the race are slightly convex. JRFEEE MM A HRH™N

FR...EI FRR..EIZ&5JZ% FR..EI FRR...EI GUIDE ROLLERS

T 14

ECCENTRIC STRUCTURE

FR 32 El

FR52 EI

FRR 32 El

FRR 52 El

32

52 | 21

M 16 x1.5

M 10 x1.25

11.8

191

12.6

19.8

12

15

8.5(50.5

11.4{69.5

21

32

245

36.5

11

14

S . .
Model R~ Dimensions(mm)
L L I PO d T {mismn|lP|lL|A|B|IL|M]|sw]|sw]|k
concentric | eccentric

20 4

28 6

ch.16 | 1

ch.24 | 15

FR 32 El

FR52E

FRR 32 El

FRR 52 El

4400

9500

2330

5500

750

1750

1200

7500

500

3000

2.92

2.96

Bearing Rating(N N -y
ue il ST BT AT BB L W e
Model %@ﬁﬁ BAR Static Limit Loads(N) Life Coefficients Wrench®
ynamic .
[&] 0> P> ) ) _ _ Settings
comrETe | eerETe Cw Radial C,, | Axial C,, | Radial F, | Axial F, X Y (Nm)

20

64

HE
Weigth

(9)

130

510

DR LA ZE: HY
2)IZAHAE AT IE O N AEUE,; XN T AT N EUE I ZEUE R 0.8.

EHNFRHRERAE)

A %15:18961185785



FR...EI FRR..EIZ&5JZ% FR..EI FRR...EI GUIDE ROLLERS

[l LN P NS5 He)
CONCENTRIC STRUCTURE ~ ECCENTRIC STRUCTURE

The sides of the race are slightly convex. JRFEEE MM A HRH™N

5 : .
Model R~} Dimensions(mm)
AL Lo I PN B T mismn|P|L|AlB|1L|M]|sw]|sw]|k
concentric eccentric
FRN22EI® | FRNR22EI® | 22| 9 MéxL | 77 94| 9 |65|39 (18220 | 8 | - | (20)| 10 |05
FRN40EIY | FRNR40EI™ | 40 | 16 | M12x1.5 | 146 |155| 12 |11.4] 60 |29.4| 31 | 11 - 8 18 1
Be A BA e PR i ]
Model Dynamic loads (N) Limit loads (N) BRIE
y Torque wrench| & &Weight
e (2)
» » settings (9)
R0 . i 0 . Cwr Cwa Radial F, Axial F, (Nm)
concentric eccentric

FRN 22 EI FRNR 22 EI 3280 800 590 290 3 53

FRN 40 EI FRNR 40 EI 12300 2600 2800 1350 26 290

D) IR LA LA HY

2) TR IR TCIETE R D0 N AR XS T 15 O IZ AU E TR Lo 8
3) (W Sk — AT e £L;

4) BRET 55— A e £L

ENFEHMRERAT A Z%:18961185785 27



BL¥EHE BL SLIDER

BL2.. BUR g B

BLA4... VUTRELTE B

SR~
BOUNDARY DIMENSIONS BB
WHhHE Dynamic V\%iﬁ\t
Slider Model Load k)
A B C P P, P, \Y m e u f Q T z (N)

54 14 16 M4ax7 70 40 8 M8 12 43 47 59000 24

BL 252 136 90 56
96300 6.5

56 15 40 M5x8 85 56 10 M12 | 171 | 715 70

BL 275 170 125 76
264500 21.6

80 15 70 M5x10 | 120 95 15 M14 22 99.8 93

BL2115 243 170 125

DIREZEAF: MEINBRISRS
)M IEEER TR K H
3N ACHE R TR LA K
4FA T E R 45

SR RREIRAR HAREI5:18961185785 .



® 407 R 2H ® 40 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

it o>l e | e HEM Cou c,? c,? Nmax
Code (ko) (N) (N) (N) (min ")
XMB40.1R | BR | ER | ER 2.5 13800 | 7000 | 1800 5000
XMB40.2R | BR | ER | BR 2.5 13800 | 7000 | 1800 5000
XMB403R | ER | BR | ER 2.5 13800 | 7000 | 1800 5000

CWP: NORMAL SERVICE LIFE 10°M  CW®: NORMAL SERVICE LIFE 10! M

RSB Stud Roller Bearing

Code Fig. Excenter (ko) MA
(mm) (Nm)
BR40 1 - 0.25 87
ER40 2 1 0.25 87
E1 2

Fig.1 Fig.2

BN EHAERAS HA%1%:18961185785 29




VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

® 407 R 2H ® 40 ROLLER UNIT

BFF A /R ACCESSORIES/SPARE PARTS

K B H M
Fig. Material (ko)
@ C45 0.01
@) EHifelt
® Q345B
BN RHABRAE

19

M8

i}

155
Fig. 1-Pin

©

i ARZ1%:18961185785

LERsT D ® ® M Cow Cu” c,.2 Nmai<

Code (kg) (N) (N) (N) (min™)

XMB40.1L BR ER ER 2.5 13800 | 7000 1800 5000

XMB40.2L BR ER BR 2.5 13800 | 7000 1800 5000

XMB40.3L ER BR ER 2.5 13800 | 7000 1800 5000
CWY: NORMAL SERVICE LIFE 10°M ~ CW®: NORMAL SERVICE LIFE 10°M

30



® 52 ZE#4H @ 52 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

A2 @ @ 3 FEM | Cow Cu” Cu” Nimax

Code (kg) (N) (N) (N) (min™)

XMB52.1R BR ER ER 4 28000 14000 3500 3800

XMB52.2R BR ER BR 4 28000 14000 3500 3800

XMB52.3R ER BR ER 4 28000 14000 3500 3800
CW®?: NORMAL SERVICE LIFE 10°M

CWY®: NORMAL SERVICE LIFE 10°M

RSB Stud Roller Bearing

. 2 i Eﬁ‘b‘;E EBM ﬁ%ﬁ}fﬁﬁﬁ
[ Code Fig xcenter (kg)
' . (mm) (Nm)
BR52 0.47 120
ER52 2 1 0.47 120

&2
Fig.2

[#1
Fig.1

EMNFEHEERAE A E5:18961185785 31




® 52 ZE#4H @ 52 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

2 @ ® @ FE Cow Cu” Cu’ Nmax
Code (ka) (N) (N) (N) (min™)
XMB52.1L BR ER ER 4 28000 14000 3500 3800
XMB52.2L BR ER BR 4 28000 14000 3500 3800
XMB52.3L ER BR ER 4 28000 14000 3500 3800

BFF A /R ACCESSORIES/SPARE PARTS

CW®: NORMAL SERVICE LIFE 10°M

K] KL HEM
Fig. Material (ko)

@ C45 0.01

@) EHifelt

® Q345B

EHNFRHRERAE)

24

o | 218
ul ©
-4 1
Fig. 1-Pin
©)

i ARZ1%:18961185785

CW?: NORMAL SERVICE LIFE 10°M

32




d 62 ZE#2H 62 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

iURs HEM Cow c,” c,? Nmax

Code 0 © @ (ko) ) ) N | (min)

XMB62.1R BR ER ER 7 39500 21400 5400 2200

XMB62.2R BR ER BR 7 39500 21400 5400 2200

XMB62.3R ER BR ER 7 39500 21400 5400 2200
CW?: NORMAL SERVICE LIFE 10°M

RSB Stud Roller Bearing

EHNFRHRERAE)

CW®: NORMAL SERVICE LIFE 10°M

1S | DR gy | BRI
Code Fig XCenter (kg)
’ (mm) (Nm)
BR62 1 - 0.82 220
ER62 2 1 0.82 220
1 2
Fig.l Fig.2

i ARZ1%:18961185785




d 62 ZE#2H 62 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

iR o ® ® EEM Cow Cu” C,2 Nimax
Code (kg) (N) (N) (N) (min™)
XMB62.1L BR ER ER 7 39500 21400 5400 2200
XMB62.2L BR ER BR 7 39500 21400 5400 2200
XMB62.3L ER BR ER 7 39500 21400 5400 2200

CWP: NORMAL SERVICE LIFE 10°M  CW®: NORMAL SERVICE LIFE 10! M

BFF A /R ACCESSORIES/SPARE PARTS

o Tkt ® 9
=2 .
Code Weight
(kg)
XAG2R 0.3
XAG2L 0.3

27

EMNFEHEERAE A E5:18961185785 34




® 727 #4H 72 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

e & ® ® EHN Cou .’ Cu” Nmax
Code (kg) (N) (N) (N) (min™)
XMB72.1R BR ER ER 9 46500 24600 6200 2200
XMB72.2R BR ER BR 9 46500 24600 6200 2200
XMB72.3R ER BR ER 9 46500 24600 6200 2200

RSB Stud Roller Bearing

EHNFRHRERAE)

CWY®: NORMAL SERVICE LIFE 10°M

CW?: NORMAL SERVICE LIFE 10°M

e iy oo 2 = WERET 8 R

ijj K Excenter EfM MA
Code Fig.- (mm) (ka) (Nm)
BR72 - 1.05 220
ER72 1 1.05 220

i1 12

Fig.1 Fig.2

FARE}5:18961185785 35




® 727 #4H 72 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

iR o ® ® EEM Cou Cu” C.2 Nmax

Code (kg) (N) (N) (N) (min™)

XMB72.1L BR ER ER 9 46500 24600 6200 2200

XMB72.2L BR ER BR 9 46500 24600 6200 2200

XMB72.3L ER BR ER 9 46500 24600 6200 2200
CW?: NORMAL SERVICE LIFE 10°M

CWY: NORMAL SERVICE LIFE 10°M

BFF A /R ACCESSORIES/SPARE PARTS

& (3
wy | R ®
Code Weight
(kg)
XAT72R 0.3 q
XAT2L 0.3

EMNFEHEERAE A E5:18961185785 36



® 90T R HE4H. 90 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

RSB Stud Roller Bearing

CW®: NORMAL SERVICE LIFE 10°M

YRSy @ © 6 HEM Cow c,r c,? Nmai<

Code (kg) (N) (N) (N) (min™)

XMB90.1R BR ER ER 15 82000 43100 10800 1800

XMB90.2R BR ER BR 15 82000 43100 10800 1800

XMB90.3R ER BR ER 15 82000 43100 10800 1800
CW?: NORMAL SERVICE LIFE 10°M

1S | DR gy | BRI
Code Fig XCenter (kg)
’ (mm) (Nm)
BR90 1 - 2.02 450
ER90 2 1 2.02 450
1 2
Fig.l Fig.2

EHNFRHRERAE)

i ARZ1%:18961185785




® 90T R HE4H. 90 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

e ® ® ® N Cow Cu” Cu” Nmax
Code (kg) (N) (N) (N) (min™)
XMB90.1L BR ER ER 15 82000 43100 10800 1800
XMB90.2L BR ER BR 15 82000 43100 10800 1800
XMB90.3L ER BR ER 15 82000 43100 10800 1800

CWP: NORMAL SERVICE LIFE 10°M  CW®: NORMAL SERVICE LIFE 10! M

BFF A /R ACCESSORIES/SPARE PARTS

EE @ &
|J —
Zije Weight
(kg)
XA90R 0.4
XA90L 0.4

EMNFEHEERAE A E5:18961185785 38



Fs2 Iz #4H F52 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

O
(o]
a o

40
e ® ® ® EHR\ Cow Cu’ .’ Nimax
Code (kg) (N) (N) (N) (min™)
XMA52.1R BR ER ER 4 28000 14000 3500 3800
XMA52.2R BR ER BR 4 28000 14000 3500 3800
XMA52.3R ER BR ER 4 28000 14000 3500 3800

RSB Stud Roller Bearing

EHNFRHRERAE)

CWY®: NORMAL SERVICE LIFE 10°M

CW?: NORMAL SERVICE LIFE 10°M

o P B = WERRT X R

ijj K Excenter EfM MA
Code Fig.- (mm) (ka) (Nm)
BR52 - 0.47 120
ER52 1 0.47 120

i1 12

Fig.1 Fig.2

HAR%1$:18961185785 39




VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

N

Fs2 I #4H F52 ROLLER UNIT

22

il

I S8, GUIDEWAY FAT RAIL

EHNFRHRERAE)

o © | @ | ® Py Co | G| Gul | Nmax

Code (kg) (N) (N) (N) (min™)

XMAS2.1L BR ER ER 4 28000 14000 3500 3800

XMA52.2L BR ER BR 4 28000 14000 3500 3800

XMAS52.3L ER BR ER 4 28000 14000 3500 3800
CWY: NORMAL SERVICE LIFE 10°M  CW®: NORMAL SERVICE LIFE 10° M

e . 1 R RS
Code Material Bolt size
XMF304010 1000 900 42CrMo | M10x40 8.82%
HAR%1$:18961185785 40




Fe2 I #4H F62 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

RSB Stud Roller Bearing

EHNFRHRERAE)

CWY®: NORMAL SERVICE LIFE 10°M

o (-]
L
o~ o
40
e D ® ® HEM Couw c,” c,? Nmax
Code (kg) (N) (N) (N) (min”)
XMAG62.1R BR ER ER 7 39500 21400 5400 2200
XMAG62.2R BR ER BR 7 39500 21400 5400 2200
XMA62.3R ER BR ER 7 39500 21400 5400 2200
CW?: NORMAL SERVICE LIFE 10°M

g g | JRUE gy | SRR
Code Fig XCenter (kg)
’ (mm) (Nm)
BR62 - 0.82 220
ER62 1 0.82 220
i1 2
Fig.l Fig.2

i ARZ1%:18961185785




Fe2 I #4H F62 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

1
J
40
A5 ® ® ® N G GhE G’ Nmax
Code (kgD (N) (N) (N) (min™)
XMA62.1L|  BR ER ER 7 39500 | 21400 5400 2200
XMA62.2L|  BR ER BR 7 39500 | 21400 5400 2200
XMA62.3L|  ER BR ER 7 39500 | 21400 5400 2200

CWP: NORMAL SERVICE LIFE 10°M  CW®: NORMAL SERVICE LIFE 10! M

I S8, GUIDEWAY FAT RAIL

Giths) L L1 ok LY iR
Code Material Bolt size
XMF304010 1000 900 42CrMo | M10x40 8.82%

—
//-’ -

BN EHAERAS HA%1%:18961185785 42




N

F72 % %40 F72 ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

S| o °
48
e D ® ® ERN Cow C,” C.” Nmax
Code (kg) (N) (N) (N) (min™)
XMA72.1R|  BR ER ER 9 46500 24600 6200 2200
XMA72.2R|  BR ER BR 9 46500 24600 6200 2200
XMA72.3R|  ER BR ER 9 46500 24600 6200 2200

RSB Stud Roller Bearing

EHNFRHRERAE)

CWY®: NORMAL SERVICE LIFE 10°M

CW?: NORMAL SERVICE LIFE 10°M

g (VS5 = WR BRI TR

ijj K Excenter EfM MA
Code Fig.- (mm) (ka) (Nm)
BR72 - 1.05 220
ER72 1 1.05 220

i1 12

Fig.1 Fig.2

HAR%1$:18961185785 43




F72 % %40 F72 ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

=
48
iR D ® ® RN Cow Cu” Cu’ Nmax
Code (kgD (N) (N) (N) (min™)
XMA72.1L BR ER ER 9 46500 24600 6200 2200
XMA72.2L BR ER BR 9 46500 24600 6200 2200
XMA72.3L ER BR ER 9 46500 24600 6200 2200
CW¥: NORMAL SERVICE LIFE 10°M

I S8, GUIDEWAY FAT RAIL

EHNFRHRERAE)

CWY: NORMAL SERVICE LIFE 10°M

38

7

Giths) L L1 ok LY it
Code Material Bolt size
KGF384810 1000 900 42CrMo | M12x50 8.82)

13.5

i ARZ1%:18961185785

44




FoOBI & #E2H F9o ROLLER UNIT

VEBS S BE (A 57 J88) ROLLERS SUPPORT (RIGHT HAND VERSION)

RSB Stud Roller Bearing

EHNFRHRERAE)

CWY®: NORMAL SERVICE LIFE 10°M

5| | e
48
ks D ® ® A Cow Cu” Cu” Nimax
Code (kg) (N) (N) (N) (min™)
XMA90.1R BR ER ER 15 82000 43100 10800 1800
XMA90.2R BR ER BR 15 82000 43100 10800 1800
XMA90.3R ER BR ER 15 82000 43100 10800 1800
CW®?: NORMAL SERVICE LIFE 10°M

[#1
Fig.1

0o B LSS “galic]
g o =
%j Fg Excenter ifM MA
ode ig. ) (kg) (Nm)
BR90 - 2.02 450
ER90 1 2.02 450
€2
Fig.2

i ARZ1%:18961185785




FoOBI & #E2H F9o ROLLER UNIT

VERS S BE (/e 57 88 ROLLERS SUPPORT (LEFT HAND VERSION)

r
M
|

48
) ® ® ® RN Cow Cu” Cu” Nmax
Code (kg) (N) (N) (N) (min™)
XMA90.1L|  BR ER ER 15 82000 43100 10800 1800
XMA90.2L| BR ER BR 15 82000 43100 10800 1800
XMA90.3L ER BR ER 15 82000 43100 10800 1800

CWY®: NORMAL SERVICE LIFE 10°M

I S8, GUIDEWAY FAT RAIL

CW®%: NORMAL SERVICE LIFE 10°M

Giths) L L1 ok LY it
Code Material Bolt size
KGF384810 1000 900 42CrMo | M12x50 8.82)

38

7

e
13.5

BN EHERRAE EAE15:18961185785

46




15 B S8 7% % ROLLER FOR RAILS

18.50

?2.40x3

1 e At B
Model Excenter Material 8
[kel
FR 15 1 mm GCri15 0.25
FR 157 0 mm GCri15 0.25
i 2 12|
| 0
| Sl
]
Ly = 8“
g f
@ __ — -
| i <
\
ol N rsoo
1% bt HE B

Model Excenter Material 8
[ke]

LR 15 1 mm GCr15 0.18
LR 157 0 mm GCr15 0.18

B RHABR AT A ¥4$%:18961185785

47



20 IS E 7R ROLLER FOR RAILS

22.50

o LI PR W?ii;lt
Model Excenter Material 8
[ke]
FR 20 1 mm GCr15 0.5
FR 20Z 0 mm GCr15 0.5
- 16 IS -
I o —
858
P 2 gl 5
S |l &
o %“ b e |
b ‘Sﬂ LT %
Y §
L] R500
05 0ot bE B
Model Excenter Material 8
[ke]
LR 20 1 mm GCri5 0.7
LR 20Z 0 mm GCri5 0.7
B RHABR AT A ¥4$%:18961185785

©2.40x3

48



25 T S8 %5 ROLLER FOR RAILS

FR 25

1 mm

GCrl15

1.1

FR 252

0 mm

GCrl15

1.1

LR 25 1 mm GCrl5 1.1
LR 257 0 mm GCrl5 1.1
MR EIRAS A E15:18961185785 .



35 B S % ROLLER FOR RAILS

FR 35

1 mm

GCr15

2.8

FR 35Z

0 mm

GCr15

2.8

LR 35 1 mm GCr15 3
LR 357 0 mm GCr15 3
MR EIRAS A E15:18961185785 .



il ][] RE A2 S VRS Bl K

Axial Fixed Combined Roller Bearings

Eithe) 5 R~ (mm) 45 (KN) ] #6502 R~
Model Boundary Dimensions (mm) Rating (KN) Ei;“;ii . RESH (mm)
. Profiles [ Optional Outer
Weight | Flange plates Standard ptDiameter
Germany | Italy D T d H h B s c Co | Ca | Cun | KO i )
4.053 | MRO0706 | 52.5 40 30 33 27 17 15 24 32 7 7 0.36 APS APS-Q

I I T R I

aon e[ o7 | | @ | @ | | w | w | o | % | u | % |se | aveano | s | uosauo |
aoso | e | o o] @ | 105 | 505 | | @ | | e | o | 0 |os | awarwo | o | o |
i | i w | w w0 e mw [ w mlon] | | |

SR RREIRAR HAREI5:18961185785 .



PR Al 2 SRR Rl

Axial adjustable Combined Roller Bearings by shims

#E
Model SFERSE (mm) 75 (RN) A SR R~
Also can choose Boundary Dimensions (mm) Rating (KN) 2E BESH (mm)
POM (K.G) B Profiles | Optional Outer
Weight | Flange plates standard Diameter
(e size(mm)
Germany | Italy D T d H h B S C Co Ca Coa
4.072 MR146 62.5 42 30 43 33 20 16 31 355 8 8 0.56 AP0 APO-Q 0 NbV 62/64.8

I I T I I N N A e T

on | Jor | 0 | s [ws | ws | m | |0 | o | n | w | ow | | swoww | weosmo |
o s | | @ | @ [ s | ws | w | » | w | w | w | w | am [wewio| swv | o |

SR RREIRAR HAREI5:18961185785 '



R 22 AR SRR IR
Axial adjustable Combined Roller Bearings by screws

EE
e SEERA (mm) |45 (KN) (KG) R RESH
Model Boundary Dimensions (mm) Rating (KN) Weight | Flange plates | Profiles standard
(KG)
Italy d D © Hrin Hiax Himin | Himax | H2 d | Di | C+ | D2 | C Co [ Ca | Con
MR961/F | 30 62 20 375 395 305 325 7 42 50 26 39 65 - - 0.52 APO 0 NbV

wrosse | o | 77| | o7 | v | mr (o7 [0 |5 lo| [w]wlos| || om | w2 | oy

T N N R N N I 2 I
T N R N R R N 2 Y

BT RHAERAE A %I5:18961185785 53



Ot AT R A2 S VR Bl K

Axial eccentric adjustable Combined Roller Bearings

g SR~ (nm) A (KN) =5 ﬁfﬁ(ﬁf)ﬁ
Model Boundary Dimensions (mm) Rating (KN) e RESH !
(KG) BRI Profiles | OPtional
Weight | Flange plates Outer
standard X
Germany Italy D T d H h B S c Co | Ca | Coa | (KG) Diameter
size(mm)
4.454 KRES062 | 62.5 42 30 37.5-39 30.5-32 20 20 31 35 11 11 0.55 AP0 AP0-Q 0 NbV 62/64.8

I e I I T R N I N 7S I IR
s | et [one| 59 | 5 | sraws | wios | 0 | m | @ [ 2| m | @ | 100 [manan] oo | smomo
IR N 2 N I I N T T N I )
IR e I T e N R N e T I

IR N I I I N e N N A I I
a0 | oo |10 | et | o0 | wsars | owsrs | s | o | o [so0 [wo | | w0 | wowo | |
I I I I N I 0 I N N I
o | o [ |0 | sowo | mowe | o0 | w0 [ o [on| a0 |we] w | wwo | |

200-204 150-154

SR RREIRAR HAREI5:18961185785 .



e A TR K

Radial Combined Roller Bearings

e = B
DT d - FEE=F== : - A
M6 :
~ -
|
- B e 0.5
b= SR~ (mm) AT (KN) TSR R~
Model Boundary Dimensions (mm) Rating (KN) E% . EESH (mm)
(KG) " Profiles Optional Outer
Weight Flange plates f
standard Diameter
Germany | Iltaly D T d H h B A Cc Co (KG) size(mm)
2.054 MR121 62.5 42 30 345 26.5 20 50 31 35.5 0.55 APO/APO-LUB/APO-Q 0 Nbv 62/64.8

Cron Jwmr o7 | n | o [ ms ] w | w | o | m | 20 | swvewsao | oo | s

2063 | MR130 | 149 | 103 60 73 54 45 116 151 192 6.7 APG/AP6-LUB/AP6-Q 6 Nbv 153.8

SR RREIRAR HAREI5:18961185785 '



HE SR HK-1C K5
Other Combined Roller Bearings-JC Series

M N
SW 13
SW 24/30 -
\ﬁ -
~ ©
i | 1 —_ i
x | '
@H 06
AL SR~ (mm) AT (KN)
Model Boundary Dimensions (mm) Rating (KN) iﬁ e
Weight Profiles
(Kg) standard
Germany A B C D F G H 1 J K L M N (6] C Co Ca | Coa
24 30.5 10 30 72 80 31 35.5 11 11 1.65 0 Nbv

JC 4.054

140

60

40

M10

62.4

62.5

64

T I I e I 2 2 S A T

JC 4.063

EHNFRHRERAE)

$EA%15:18961185785

56




HAthSE VR HR - SR R
Other Combined Roller Bearings-Weld Assembly

|
I | -
[
|
= i
[1 : |
| T o
| N\ | : |
l I I
v~ H
ﬂ% %%RVJ‘ (mm) EE
Model Boundary Dimensions (mm) (KG) BEESH | W% ERH(mm)
. Profiles Optional Outer
Weight tandard Diameter size(mm)
Germany D A B c E F G H I J ey | °
3.054 62.5 118 60 40.5 75 10 40 66 45 M10 14 0 Nbv 62/64.8

o | o [ w | w | % | w | 5 | 0 | n | s [we| | tw | wwms |

s o [ w | w | v | | | o | w | e | | e | sw | oo |

3.063 149 265 150 78.4 190 20 100 153 115 M16 136 6 Nbv 153.8

ENEFRRERAE A EIS:18961185785 57



HARSE S TR AR - AT B R R LR

Other Combined Roller Bearings-No need to weld and fix

bt
4 ¢
8 T s
#HE
Model AR ~F (mm) FAFF(KN)
Also can choose Boundary Dimensions (mm) Rating (KN) WS, &SRR
POM HE (KG) Profiles (mm)
Weight (KG) ! Optional Outer
standard
Diameter size(mm)
Germany B A C D E F G C Co Ca Coa
KB 4.072 62.5 43 50 17.5 20 M 10*13 30 31 355 8 8 0.65 0 Nbv 62/64.8

149 89 120 29

coson o7 | 5 | @ | % | n | wwm | % | o | s | | w | 52 | sww | wosoms
KB 4.080

45 M 16*23 80 151 192 68 71 6 Nbv 153.8

BT RHAERAE HAHI5:18961185785 58



S
Standard special Steel Channel/Profile for lift trucks

S R~F (mm) +0.5
UR S Boundary Dimensions (mm) +0.5 & (KG)
U-Profile Weight(KG)
b2 (b) bl h h1 c d rl r2 r3
Standard 0 NbV 2890 62.5 86.5 12 36 7 15 3 <6 2-3 4 10.5

Standard 6 NbV

I R~ (mm) 1
H & 5% Boundary Dimensions(mm) +1 HE (KG)
H-Profile Weight(KG)
(b) bl b2 h S t a G d rl r2 r3
3018 NbV 98 14 70 65 9 115 10° 15 3 <6 2-4 4 19.4

3353 NbV

SR RREIRAR HAREI5:18961185785 '



BN

Flange Plates

Bl i
m
H f‘G
i~
Jé} i L/
L
g
pd
o
Pany & al 4
\NES af >
M @ an
¢ N
L L
e SR (mm) 7 TR R
Model Boundary Dimensions (mm) £ (KO) Flange plate_s
German Ital d L w H D1 D2 B1 B2 F G WEHEEE) |Le§:;fr;:$:s
CEny v GERALAE) | (B | BRED | (BOREED | GRLAEED | GRenBEm) |ZBAES | ZRBAER |(EEALB) | GRe) from face side
AP A 15 65 45 5 30 30 50 30 6.5 M6 0.1

SR RREIRAR HAREI5:18961185785 .



WA ERRARATR
Changzhou Xuanmao Bearing Co.,Ltd
Sk : N G DI SR S 35

PS5 HIE . 13401323571 1 &7
136 1611 5798 FK 5T
FAR S Fr: 189 6118 5785 JE 44

International Business

Tel/WhatsApp/Wechat:+86-13401323572
Email:special.roller.bearings@gmail.com
13401323572@139.com

special roller bearings



